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𝒇(𝒙)إذا كانت    = 𝒙𝟐 − 𝟐𝒙 , 𝒈(𝒙) = 𝟑𝒙 − 𝟒 , 𝒉(𝒙) = −𝟐𝒙𝟐 + 𝟏  

𝒇)  مجالها؟  وحدد فأوجد الدوال التالية    + 𝒈)(𝒙), (𝒇 − 𝒉)(𝒙) , (𝒇 ∙ 𝒈)(𝒙), (
𝒉

𝒇
)(𝒙)  

  

  𝒇(𝒙) = 𝟔𝒙𝟐 − 𝟒, 𝒈(𝒙) = 𝒙 + 𝟐   [𝒇𝝄𝒈](𝒙) , [𝒈𝝄𝒇](𝒙), [𝒇𝝄𝒈](𝟑)  

  

  

  

𝒇(𝒙) = √𝒙 + 𝟏 , 𝒈(𝒙) = 𝒙𝟐 − 𝟏 𝒇𝝄𝒈 

𝒇𝝄𝒈 

 
  

 ᡧ ᢕᣌأوجد دالت𝒇, 𝒈  كونᘌ ثᘭحᗷ𝒉(𝒙) =

[𝒇𝝄𝒈](𝒙)  الا تكون أي منهما الدالة ᣢو ع
𝑰(𝒙)المحاᘌدة  = 𝒙 ᛿ ᢝ

ᡧᣚ : ᢝᣢᘌ لا مما 

 1   (ℎ(𝑥) =
ଵ

௫ା଻
  

  

2   (ℎ(𝑥) = √4𝑥 + 2 + 7  

 



١٤ 
 

1𝒇(𝒙) = 𝟐𝒙 − 𝟑 , 𝒈(𝒙) = 𝟒𝒙𝟐[𝒇𝝄𝒈](𝒙)

A 𝟒𝒙𝟐 + 𝟐𝒙 − 𝟑B 𝟖𝒙𝟐 − 𝟑C 𝟏𝟔𝒙𝟐 − 𝟒𝟖𝒙 + 𝟑𝟔D 𝟖𝒙𝟑 − 𝟏𝟐𝒙𝟐

2𝒇(𝒙) = 𝒙 − 𝟑 , 𝒈(𝒙) = 𝟐𝒙 − 𝟒(𝒇 + 𝒈)(𝒙)

A𝟑𝒙 − 𝟕B−𝒙 − 𝟕C−𝒙 + 𝟏D𝟑𝒙 + 𝟏

3𝒇(𝒙) = 𝒙𝟐 + 𝟏 , 𝒈(𝒙) = 𝟐𝒙[𝒇𝝄𝒈](𝒙)

A𝟐𝒙𝟐 + 𝟐B𝟐𝒙𝟐 + 𝟏C𝒙𝟐 + 𝟒𝒙 + 𝟒D𝟒𝒙𝟐 + 𝟏

4𝒇(𝒙) = 𝒙𝟐 + 𝟏 , 𝒈(𝒙) =
𝟏

𝒙
[𝒇𝝄𝒈](𝒙)

A 𝒙 +
𝟏

𝒙
B 

𝟏

𝒙𝟐
C 

𝟏

𝒙𝟐 + 𝟏
D 

𝟏

𝒙𝟐
+ 𝟏

5𝒇(𝒙) = 𝒙𝟐 + 𝟒 , 𝒈(𝒙) = √𝒙(𝒇 + 𝒈)(𝒙)

A𝑹B 𝒙 < 𝟎C 𝒙 > 𝟎D 𝒙 ≥ 𝟎

6𝒇(𝒙) = 𝒙𝟐 + 𝟓𝒙 + 𝟔 , 𝒈(𝒙) = 𝒙 + 𝟐ቀ
𝒇

𝒈
ቁ (𝒙)

A 𝑹B 𝒙 ≠ 𝟎C 𝑹 − {−𝟐}D 𝑹 − {𝟐}

7𝒇(𝒙) =
𝟏

𝒙ା𝟏
, 𝒈(𝒙) = 𝒙𝟐 − 𝟒𝒇𝝄𝒈

A 𝑹B 𝒙 ≠ 𝟏C 𝒙 ≠ ±√𝟑D 𝒙 ≠ ±𝟑

8𝒇(𝒙) = √𝒙 + 𝟒 , 𝒈(𝒙) = 𝒙𝟐 − 𝟒𝒇𝝄𝒈

A𝑹B𝒙 ≠ ±𝟒C𝒙 ≠ 𝟎D𝒙 > 𝟎

9𝒇(𝒙) = 𝟐𝒙 − 𝟑 , 𝒈(𝒙) = 𝟒𝒙 − 𝟖[𝒇𝝄𝒈](𝟔)

A 19 B 16 C 29 D 35
10[𝒇𝝄𝒈](𝒙) = |𝟒𝒙 + 𝟖| − 𝟗

A 𝒇(𝒙) = |𝟒𝒙| − 𝟗 
𝒈(𝒙) = 𝒙 + 𝟖

B 𝒇(𝒙) = |𝒙| − 𝟗 
𝒈(𝒙) = 𝟒𝒙 + 𝟖

C 𝒇(𝒙) = |𝒙| − 𝟖 
𝒈(𝒙) = 𝟒𝒙 + 𝟗

D 𝒇(𝒙) = 𝟒𝒙 − 𝟗 
𝒈(𝒙) = |𝒙| + 𝟖

11 𝒉(𝒙) = 𝟐(𝒙 − 𝟓)𝟐 , 𝒈(𝒙) = 𝒙𝟐 + 𝟗𝒙 + 𝟐𝟏𝒉[𝒈(𝒙)]

A 𝒙𝟒 + 𝟏𝟖𝒙𝟑

+ 𝟏𝟏𝟑𝒙𝟐 + 𝟐𝟖𝟖𝒙
+ 𝟐𝟓𝟔

B 𝟐𝒙𝟒 + 𝟑𝟔𝒙𝟑

+ 𝟐𝟐𝟔𝒙𝟐 + 𝟓𝟕𝟔𝒙
+ 𝟓𝟏𝟐

C 𝟑𝒙𝟒 + 𝟓𝟒𝒙𝟑

+ 𝟑𝟑𝟗𝒙𝟐 + 𝟖𝟔𝟒𝒙
+ 𝟕𝟔𝟖

D 𝟒𝒙𝟒 + 𝟕𝟐𝒙𝟑

+ 𝟒𝟓𝟐𝒙𝟐

+ 𝟏𝟏𝟓𝟐𝒙 + 𝟏𝟎𝟐𝟒

12𝒇(𝟐) = 𝟑 , 𝒈(𝟑) = 𝟐 , 𝒇(𝟑) = 𝟒 , 𝒈(𝟐) = 𝟓[𝒇𝝄𝒈](𝟑)

A 2 B 3 C 4 D 5 
13𝒇(𝒙) = 𝒙𝟑 − 𝟏 , 𝒈(𝒙) = 𝒙 + 𝟕(𝒇 − 𝒈)(𝒙)

A 𝒙𝟑 − 𝒙 − 𝟖 B 𝒙𝟑 + 𝒙 + 𝟖C 𝒙𝟑 + 𝒙 + 𝟔 D 𝒙𝟑 − 𝒙 + 𝟖 
14𝒇(𝒙) = 𝒙𝟑 − 𝟏 , 𝒈(𝒙) = 𝒙 + 𝟕(𝒇 ∙ 𝒈)(𝒙)

A 𝒙𝟒 − 𝟕𝒙𝟑 − 𝒙 + 𝟕 B 𝒙𝟒 + 𝟕𝒙𝟑 − 𝒙 − 𝟕 C 𝒙𝟒 + 𝟒𝒙𝟑 − 𝒙 + 𝟏 D 𝒙𝟒 − 𝟕𝒙𝟑 + 𝟐𝒙 − 𝟕 

15𝒇(𝒙) = 𝒙 − 𝟔 , 𝒈(𝒙) = 𝒙𝟐 − 𝟑𝟔ቀ
𝒇

𝒈
ቁ (𝒙) 

A 𝟏

𝒙 + 𝟓
 

B 𝟏

𝒙𝟐 + 𝟑𝟔
 

C 𝟏

𝒙 + 𝟔
 

D 𝟏

𝒙 − 𝟔
 

  


